F42E8 ZHADFRAFK ZRIHFE HEE

# B : §M7£4A268(L)[FHABE:4A278(A)] [E# k]

B o [A]ERRA—TILRR—ILIA—Y=R BA Mk 090—2971—8818
[BI=RHTRDHLAEEHIKE

Eit 'gf : 7@§k ) — A fohe — b L

0N BT AE (RFRTESE LIET ) MK=ZRMMLEZ-F—hER, £itBBCIX

E £ : 24T7L—21E., $5TIE. SimE 5824H(x).31H(X)~6A1H(B) DA ZEED B RS~ HIG
HERBEY ., BT L—H 200, BEEITIE. %ihE

Bk B ETF—L28T D
ZERK 2F— L
RPE 58248 (1).318(L)~6A18(R) SARTXED

=RE=-%F— LtieBBC
4 8 7 0
A3 B3
13:00 13:00
RFREH RFREH,
0 9 0 2 0 10 5Ea— /LR 3 7
Al A2 B1 B2
426(%) 9:00 10:30 9:00 10:30
¢ [A] \\ [B]
43— )LKR ER8[E 4Ea—)LKR

1 2 3 4 5 6 7 8
VAN ) b1 = T t 1) =
o Ly A iR H it it R
i 5 . H . B i ]
& ica = 3 B B =2 ir
[=] iip) R E3) e o] % £
ir Eil = =1 =
x == . [=] =2
/ = a2
T - %

th th

B L

% %




